Saving $30,000 Worth of Clams wnth a $5 Cup
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We have a problem...

There is a big variance between the cost of purchasing
raw clams and the revenue they should generate as
fried clams. We're missing up to $ 30k a year!
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Let’s go learn more,
starting where the
dishis prepared.

Hey, could you show me a
portion of fried clams?

After weighing several portions
created by hand, we realized

we were serving more than the
11 ounces the recipe called for.
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Why is the cook
serving so much?

Should I call the
management team
to discuss?

Should I yell at the
cook for this error?
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the quick and simple solution that
solved a $ 30k problem.
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